Question 1.

Emily, Jasmine, and Tiffany have each applied for admission to graduate studies. The probability that Emily will gain admission is 0.8; the probability that Jasmine will gain admission is 0.6; and the probability that Tiffany will gain admission is 0.3.

a. What is the probability that all three will gain admission?

b. What is the probability that none of the three will gain admission?

c. What is the probability that Jasmine will gain admission, but Emily and Tiffany won’t?

d. What is the probability that exactly two of the three applicants will gain admission?

 
Hint: Construct a tree diagram.

Question 2.

You are given the probabilities listed below. 

P(A) = 0.30

P(B) = 0.40

P(C) = 0.10

P(A or D) = 0.50
P(A and D) = 0.04

P(A and C) = 0.03

P(BIA) = 0.60

Determine:

a. P(A and B)

b. P(AIB)

c. P(D). Hint: Use and addition rule.

